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= 9,000 0 9,000
Al 543,450 385,450 158,000
IsFe a2 525,450 385,450 140,000
402 912t X 2 0 H 500,000 360,000 140,000
01 SIXHE A ER (RATHR) 500,000 360,000 140,000
0 ZSZ 2elbg N
A3 500,000,0009 500,000 360,000 140,000
IsFe B2l(2X) 27,000 0 27,000
= 9,000 0 9,000
Al 8,000 0 18,000
402 912t 2 0 B 27,000 0 27,000
= 9,000 0 9,000
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A 190,000,000% 190,000 90,000 100,000
NEASSHHA L SHANN R (2 X) 80,000 53,334 26,666
2 40,000 26,667 13,333
= 12,000 8,000 4,000
Al 28,000 8,667 9,333
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= 40,000 26,667 13,333
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Al 28,000 18,667 9,333
HASEFHEXALS 5,861,578 5,845,578 16,000
= 4,582,762 4,582,762 0
< 622,508 614,508 8,000
Al 656,308 648,308 8,000
MERREINClLANESS0NEE(ER) 96,000 80,000 16,000
< 48,000 40,000 8,000
Al 48,000 40,000 8,000
307 gl2tol & 96,000 80,000 16,000
< 48,000 40,000 8,000
Al 48,000 40,000 8,000
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2 & 96,000,000 96,000 80,000 16,000
< 48,000 40,000 8,000
Al 48,000 40,000 8,000
HREs(HS50IX ) 127,992 0 127,992
SEXNE(ASCIA) 127,992 0 127,992
SHEXNES(ASCIXA ) 127,992 0 127,992
802 gH& = DI EF 127,992 0 127,992
01 I DEXSHE= 102,743 0 102,743
O FHsS0H NEAY 101,339,000& 101,339 0 101,339
0 sHEZOQAFEMEAS 1,404,000 1,404 0 1,404
02 Al - SHIZEXSEHES 25,249 0 25,249
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12,160,000& 12,160 0 12,160
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